Repeated Roots: Differentiation

Repeated Roots: Differentiation

Method 2: Differentiation

Method 2: Differentiation

$$k_1 = \frac{325(s+1)}{(s+10)^2} = \frac{k_1}{5+2}$$
; $k_2 = \frac{k_2}{(s+10)^2}$
 $k_3 = \frac{325(s+1)}{(s+2)} = \frac{325(s+1)}{(s+2)^2} = \frac{325(s+1)}{(s+2)^2$

TENNESSEE T

$$F(s) = \frac{1}{(s+1)^3} = \frac{k_1}{s+1} + \frac{k_2}{(s+1)^2} + \frac{k_2}{(s+1)^3} = \frac{A_{s^2+B_s+e}}{(s+1)^3}$$
Differentiation \rightarrow find k_2 ω | multiply by $(s+1)^3$,
$$\frac{d}{ds} = \frac{1}{(s+1)^2} + \frac{k_2}{(s+1)^2} + \frac{k_2}{(s+1)^3} = \frac{A_{s^2+B_s+e}}{(s+1)^3}$$
Differentiation \rightarrow find k_2 ω | multiply by $(s+1)^2$ |
$$\frac{d^2}{ds^2} = \frac{1}{2} \text{ pluy in } s = -1$$

PFE: Complex Roots

PFE: Complex Roots

2 tooks
$$C$$

2 tooks C

$$F(s) = \frac{1}{s^2 - 2s^2} = \frac{1}{(s - (1 + j))(s - (1 - j))} = \frac{k_1}{s - (1 + j)} + \frac{k_1}{s - (1 - j)}$$

Option 1: Do nothing Different

$$k_1 = \frac{1}{s - (1 - j)} \Big|_{s = 1 + j} = \frac{1}{2j} = \frac{3}{2}$$

(could skip $k_2 = \frac{1}{s - (1 + j)} \Big|_{s = 1 + j} = \frac{1}{-2j} = \frac{3}{2} = k_1^*$

knowing $k_2 = k_1^*$
 $f(t) = \int_{-\infty}^{\infty} \{P(s)\} = \frac{3}{2} \int_{-\infty}^{\infty} \{\frac{-1}{s - (1 + j)}\} = \frac{1}{s - (1 - j)} \Big|_{s = 1}^{\infty}$

TENNESSEE

$$f(t) = \frac{j}{4} \left(e^{(1+j)t} u(t) + e^{(1-j)t} u(t) \right)$$

$$= \frac{j}{2} e^{t} \left(e^{jt} + e^{-jt} \right) u(t) = e^{t} \left(e^{jt} - e^{-jt} \right) u(t)$$

$$= e^{\dagger} \sin(\dagger) 2(\dagger)$$

$$\cos \theta = e^{\frac{1}{2}\theta} + e^{-\frac{1}{2}\theta}$$

$$\sin \theta = e^{\frac{1}{2}\theta} - e^{-\frac{1}{2}\theta}$$

Option 2: let's do the general case?

$$= \mathcal{L}^{-1} \left\{ \frac{k}{s - (\sigma + j\omega)} + \frac{k}{s - (\sigma - j\omega)} \right\}$$

$$= ke^{(\sigma + j\omega)t} u(t) + k^* e^{(\sigma - j\omega)T} u(t)$$

$$= e^{-t} \left(ke^{j\omega t} + k^* e^{-j\omega t} \right) u(t)$$

$$= e^{-t} \left(k e^{j\omega t} + k^{*} e^{-j\omega t} \right) u(t)$$

$$= e^{-t} \left(k e^{j\omega t} + e^{-j\omega t} \right) + j I_{m} \{k\} \left(e^{j\omega t} - e^{-j\omega t} \right) \right) u(t)$$

=
$$2e^{-t}\left(\sqrt{Re !h ^2} + I_m !h ^2\right)^2 \cos(\omega t - tan^2)\left(\frac{I_m (h ^2)}{Re (h ^2)}\right) u(t)$$

= $2e^{-t}\left(|k|\cos(\omega t - 4h)\right) u(t)$

$$\frac{k}{s - (\sigma + \gamma r)} + \frac{k^*}{s - (\sigma - \gamma r)} = 2e^{-t}|k|\cos(\omega t - 4h) u(t)$$

Option 3: Manipulate polynomial into one of the existing items in the bubble